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FefoRad § 9 @-a1 dffee g|E 1.

& T TEl T ?

(A)  PIRTHT <TEfaRoT
(B) PIRGT faTe
(C) 3RRY Yderd

(D) SR dHaA

IR, T4 U TI YA @ fAir § 2

HF-9T ey B WS © 7
(A) TlrelE

(B) iffdor

(C) SIS

(D) foraRfera

Il ¥ YW 3EwRAT B dred H | 3.

ey B WERID § 7
(A) 3fifda

(B) faRfer

(C) WrECIHRET
(D) TR

JR. U4 U UG . U4, U. ¥ 3oy Uiy 4

Sl &

(A) TEae T R
(B) T3EIN UG SRTRINTSEIST

(C) IS4l Td Hivhe

(D) SRITRIRTZEN U4 IS4l

AG-2002 (3)

Which of the following is not a function of

Auxin hormone ?

(A) Cell elongation
(B) Cell division
(C) Apical dominance

(D) Genetic dwarfism

Which plant hormone is helpful in making
RNA and protein ?

(A) Ethylene
(B) Auxins

(C) Cytokinins
(D) Gibberellins

Which plant hormone helps in breaking

dormancy of seed ?

(A) Auxins
(B) Gibberellins
(C) Cytokinin

(D) Ethylene

The sugar found in RNA and DNA is :

(A) Ribose and Uracil
(B) Ribose and Deoxyribose
(C) Ribose and Phosphate

(D) Deoxyribose and Ribose

Set-D



JfdeIcgs H U O © 5,

(A) S §T &R
(B) TH IV AR Uh BT

(C) TH IaxI, Uh &R R BRDe
(D) Udh Waxl, U &R 3R A
BRWE

frfofed § 9 C,H,,0, fouar 6.

TR U fobam S & ?
(A) 9 D FE&A

(B) TE AN Bl HE=AT

(C) SifeRiIaT el @l e
(D) SHIE W

PEEESC D ol AP ghg € ¢ 8.

(C) FTRHINIZEH
(D) SWad # | BIS T
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Nucleotide contains :

(A) Paired base
(B) 1sugarand 1 phosphate
(C) 1sugar, 1 base and 1 phosphate

(D) 1sugar, 1 base and 3 phosphates

Which of the following is general formula

CnHZnOn ?

(A) Monosaccharides
(B) Disaccharides
(C) Oligosaccharides

(D) Polysaccharides

Monosaccharides are subdivided on the basis

of oo, )

(A) No. of bonds
(B) No. of carbon atoms
(C) No. of oxygen atoms

(D) All of the above

Basic structural unit of carbohydrate is :
(A) Monosaccharides

(B) Disaccharides

(C) Trisaccharides

(D) None of the above

Set-D



0. fy=folRad & @ I8 fhger SRS

g e
CHO

|
H-C - OH
|
HO-C - H
|
H-C - OH
|
H-C-OH

|
CH,OH

(A) TP
(B) eI
(©) oIt
(D) HIEN

10. THZAN @I RSN & 9 A W®

11. ®H& & JhR 8 2
(A) 2
(B) 3
C) 4

(D) 5

AG-2002

9.

10.

11.

(5)

Which of the following structural formula

isit?
CHO

|
H-C - OH

|
HO-C - H

|
H-C — OH

|
H-C- OH

|
CH,OH

(A) Glucose
(B) Fructose
(C) Sucrose
(D) Maltose

Amylose gives ...............
iodine.

(A) Red

(B) Blue

(C) Black

(D) Green

Kinds of Starch are :

(A) 2
(B) 3
€ 4

(D) 5

colour mixed with



12, TogHIN SRR R :
(A) TEH @
(B) oI &
(C) U ®H @
(D) UIRY WA &1
13.  FHfaRad & 9 SI9-91 T8 GAferd Tal
g ?
AT e yRefed TE
(A) YEEUeE s
(B) HHEMICH RIEREP
(C) TaEPMIEH  fdfUe
(D) BRPUCH  BIRBIRG 3%
14, T~EA & el W@ goil g
yferarfed foar o -
(A) Tdl. MEdferd TG HUeH, 1913 o
(B) TS fhIR, 1898 A
(C) W& A
(D) SWad # | BIg T2
15, “Slig AR e’ fdde & ofes ¢
(A) 3. B T
B) <24 RiE
(OERSSRCRES
(D) <. fa1a Rig
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12.

13.

14.

15.

(6)

Conjugated Protein

Glycogen is an example of :
(A) Protein

(B)
(C) Animal starch

Fat

(D) Plant starch

Which of the following is not correctly

matched ?

Prosthetic Group
(A) Nucleic acid
(B)
©

(D)

Nucleoprotein

Chromoprotein  Coloured pigments

Glycoprotein Lipids

Phosphoprotein  Phosphoric acid

Lock and key theory of enzymes was
proposed by :

(A) L. Michaelis and Menten, 1913

(B) Emile Fischer, 1898

(C) Funk

(D) None of the above

Authors of the ‘Biochemistry’ book is :
(A) D.K. Dass
(B) Dr. T.B.Singh
(©)

(D)

Reddy and Reddy

Dr. Vinay Singh

Set-D



16. BN I & D o :
(A) HigP Eer
(B) . dfF offaT
(C) fiferyw Wl
(D) S ¥ ¥ B T

17. ARRIGNESd & 9T 93 ¢

(A) (CnHZnOn )n—l
(B) (CnHZnOn)
(C)  (CeHyoOs),

(D) Suda Wl

18. CgHypOg SVNH 2 :

(A) @I BT
(B) Al @I

(C) @IS Ud haclsl QM Bl
(D) SWYad # | BIg T2
19. fFrfafed & ¥ s fgeaa &
SETER el & 7
(A) o
(B) AR
(C) HAler
(D) s

AG-2002

16.

17.

18.

19.

(7)

Father of Agricultural Chemistry is :

(A) Fredrich Wholer
(B) J.Von Leibig
(C) William Seeley

(D) None of the above

General formula of monosaccharides
is:

(A)  (C,H2,0, )n_1
(B) (CyH2,0p)
(C)  (CeHioOs),

(D) All of the above

CgH1,0¢ is a molecular formula of :

(A) Glucase
(B) Fructose
(C) Both Glucose and Fructose

(D) None of the above

Which of the following is not an example of

Disaccharides ?

(A) Sucrose
(B) Cellobiose
(C) Maltose

(D) Raffinose
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20.

21.

22.

23.

GhIoT U4 CTS8allol IQERY 3 - 20.

(A) TR IO B
(B) IR-ITE NI B
(C) T (A) 3R (B)
(D) SWE ¥ W B &l

fopuas ufshar &1 Sf<q9 SaTE 2 21.

(A) CgHy;0.0Ca0H + H,0
(B)  CgHi206 + CeH1206
(C) 2CH,CH,OH +2CO,
(D) SHJF W

fyefolReg & 9 oF-w Wa 0§ 22

g § ?

(A) AT
(B) NfcrTRIaESH
(C) THI (A) 3R (B)

(A) 1
(B) 2
(C) 2-10

(D) 3

AG-2002 (8)

Sucrose and Trihalose are examples of :
(A) Reducing sugar

(B) Non-reducing sugar

(C) Both (A) and (B)

(D) None of the above

End product of fermentation process is :
(A) CgH;{1050Ca0OH + H,0

(B) CgH120g + CgH1,04

(C) 2CH4CH,OH +2CO,

(D) All of the above

Which of the following is insoluble in
water ?

(A) Monosaccharides

(B) Oligosaccharides

(C) Both (A) and (B)

(D) Polysaccharides

Oligosaccharides provide ................... units
of monosaccharides on hydrolysis.

(A) 1
B) 2
(C) 2-10

(D) Infinite

Set-D



24. TP Y9 YIS Holl USH PRl @ 24.  One gram protein provides energy :

(A) 43 & Dar) (A) 4.3 keal
(B) 42 . Har (B) 4.2 kcal
(C) 54 & Dar! (C) 5.4 kcal
(D) 58 . AR (D) 5.8 keal

25. @ H PE-AT Uil ofdels )T dl  25.  In milk which enzyme break down lactose

Fﬂ@ éﬂ_l_ % P sugar ?

(A) gbal (A) Sucrase

(B) el (B) Collagen

(C) dEe (C) Lactase

(D) Sugad FI (D) All of the above

26. 308 & BT W H HF-9T YiEH yrm 26. Which protein is found in egg white part ?

ST © ?

(A)  Telgfer (A) Globulin

(B) i (B) Zein

(C) MgeregfF (C) Ovalbumin
(D) Sugad FI (D) All of the above

AG-2002 (9) Set-D



27. ¥ TIgH B © ¢ 27.  All enzymes are :

(A) Zh"l‘slﬁﬁ‘;:r'd (A) Carbohydrate

(B) U (B) Proteins

(C) gfdeTd 3l (C) Nucleic acid

(D) S TA. T (D) D.N.A.

28. 3P IAHHT 3l BT =T © 28.  Number of essential amino acids is :

(A) 10 (A) 10

(B) 20 (B) 20

(C) 30 (C) 30

(D) 40 (D) 40

29. 91 UG A i a9-d I9 Ul 29. Which protein is found in hairs and nail ?
ST ® ?

(A) Tesgfi (A)  Albumin

(B) HRIRM (B) Myosin

(C) fafes (C) Keratin

(D) lctoH (D) Collagen

30. T H DF-9 UM URIT A & 7 30.  Which protein is found in milk ?

(A) Ao (A) Globulin

(B) fanfes (B) Keratin

(C) & (C) Casein

(D) Sugad FI (D) All of the above

AG-2002 (10) Set-D



31. ffofed & @ oM@ gafed 8L

fofted &1 ISR B ?
(A) FRfeTESH
(B) TUNg

(C) evEsd

(D) SHIF T

32. f=foRed # 9 oF-91 92 gAfora &1 32

g7
bl
(A) TR
(B) o
(C) ey
(©) T

33, Wogellol U @ oIl §

A) e
(B) 9Ts ¥

(C) HUE ¥

(D) ST W

AG-2002

65%

75%

80%

50%

33.

(11)

Which of the following is an example of

derived lipid ?

(A) Carotenoids

(B) Terpens

(C) Steroids

(D) All of the above

Which one of the following is not correctly

matched ?

Crops Starch
(A) Maize 65%
(B) Rice 75%
(C) Patato 80%
(D) Wheat 50%

Cellulose is obtained from :

(A) Jute

(B) Sunhemp

(C) Cotton

(D) All of the above

Set-D



34, f=foRad & ¥ d9-1 wHg H 34 In which of the following sugars — CHO
—CHO (tfcsgrss E) T S 39 (Aldehyde group) is found ?

(A) @ (A) Glucose
(B) Wl (B) Fructose
(C) THI (A) 3R (B) (C) Both (A) and (B)
(D) SWE ¥ | FIg el (D) None of the above
35. fyfaied # ¥ @-@1 @& gufg 35, Which of the following is correctly
397 matched ?
(A) Te=T — W N (A) Peptons — Simple protein
(B) QQ_&’@H — ﬂg‘q«‘-{ areHE (B) Albumins — Conjugated protein
(C) TARZBUICH — iied UIieH (C) Glycoprotein  — Derived protein
(D) BIRPUICH — HYad UIEH (D) Phosphoproteins — Conjugated
proteins
36. Boll § dH-91 Ihe gy Sl g ? 36. Which sugar is found in fruits ?
(A) oI (A) Lactose
(B) W (B) Sucrose
(C) @ (C) Glucose
(D) Waer (D) Fructose
37. W BT STA-3TgcH dYd W g gd 37.  On hydrolysis sucrose provides :
B
(A) Ud 37 T{cﬁﬁ + Ud 37 HhacIol (A) One molecule of Glucose + One
molecule of Fructose
(B) I 3] Tef@Ial (B) Two molecules of Glucose
(C) T 3] @Il + U 31 Hhaeral (C) Two molecules of Glucose + One
molecule of Fructose
(D) To[dr T I 3 (D) Infinite molecules of Glucose

AG-2002 (12) Set.D



38. fymfiRed & & dI-1 wE gaferd 81 38, Which of the following is not correctly

37 matched ?
I g Sugars Sources
(A) ‘61?5 ol Y (A) Glucose Honey
(B) dwdc © (B) Lactose Milk
(©) ijﬁ o] 3fTe] (C) Sucrose Potato
(D) HACN il (D) Maltose Barley
39. fom=ifoRad & 9§ @H-97 Uesiol 9w 39.  Which of the following is not a aldose
e sugar ?
(A) HAIS (A) Mannose
(B) ‘6@ ol (B) Glucose
(C) Wae (C) Fructose
(D) et (D) Galactose
40. ‘fafUs’ wies &1 ufouifed foar or 40. Word ‘Lipid’ was proposed by :
(A) . 9 <fifew, 1803 A (A) J.Von Leibig, 1803
(B) AR, 1908 (B) Sorenson, 1908
(C) o8 UITR, 1882 (C) Louis Pasteur, 1882
(D) <R, 1943 (D) Bloor, 1943

41. f=faRad 5 9 oH-91 Biifelfis @1 41.  Which of the following is not a component

qg T 7 of phospholipid ?
(A) BRGC (A) Phosphate
(B) WIEH (B) Protein

(C) feRRie (C) Glycerol
(D) Uchlglc] (D) Alcohol

AG-2002 (13) Set-D



42.

43.

44,

45,

STSRCRIgSd & -
(A) < H gerTelia

(B) Il H e
(C) e H MR wU | gerreliel

(D) SWE ¥ W B &l

forfiesr @1 amifdie °vc BT ®

(A)
(B)
(@)
(D)
DT W ToA-3Uged  dxd W

DI HI-THAT 3T BT BT Y

0.2
0.8
1.00
1.5

HRAT T 7

(A) I U

(B) WY IIcH
(C) T W
(D) SHIE W

I S 8l © -

(A) C,H,O,N,S,PX

(B) C,H, 0N
(C) C,H,OK,P,S¥

(D) C,0,Fe, Ca, Mgd

AG-2002

42.

43.

44,

45.

(14)

Triglycerides are :
(A) Soluble in water

(B)

(C) Partially soluble in water

Insoluble in water

(D) None of the above

The specific gravity of lipids is :

0.2
0.8
1.00

(A)
(B)
(©)

(D) 15

Which protein gives only mixture

o.-amino acid on hydrolysis ?

(A)
(B)
(©)
(D)

Simple protein
Conjugated protein
Derived protein
All of the above
Protein is made up of :
(A) C,HON,S,P
(B) C,H,O

(©) C,HOKP,S

(D) C,O0,Fe, Ca, Mg

of

Set-D



46. 3 R foga o & PR BAT & 7 46. Milk fever is caused due to deficiency

of :
(A)  HIRRE (A) Magnesium
(B) fcaram (B) Calcium
(C) FINIZS (C) Chloride
(D) UrRcRrM (D) Potassium

47. FHElRag § ¥ dE-9T R Uil @1 47. Which of the following is an example of

e 0 milk protein ?
(A) VesgfAd (A) Albumin
(B) T e (B) Globulin
(c) R (C) Zein
(D) @A (D) Casein

48. SISl §9 BT B 48. Lactose is made up of :
(A) BN + HES | (A) Glucose + Fructose
(B) @M + ierderal ¥ (B) Glucose + Galactose
(C) WHaeN + dde A (C) Fructose + Galactose
(D) TP + T | (D) Glucose + Glucose

AG-2002 (15) Set-D



49, RICH Ydqu g : 49. Carotene is precursor of :

(A) fder™ @ A @& (A) Vitamin A
(B) fdeIfd B @ (B) Vitamin B
(C) faarfd c @ (C) VitaminC
(D) fder™™ D @1 (D) Vitamin D

50. fr=ifoiRed & Q@ @9-a1 faaifiq e 50. Which of the following Vitamins is present

¥ TR o R 2 in cobalt ?

(A) faerf®= B, (A) Vitamin B,
(B) fdIf+ B, (B) Vitamin B,
(C) faeIf®+ Bs (C) Vitamin Bs
(D) fdeIf®™ By (D) Vitamin By,

51. S U9, U @ S9 2foldel Afedl ¥var 51. Double helical structure model of DNA is

s & & - proposed by :

(A) TqCHT TG b o (A) Watson and Crick
(B) =R (B) Bloor

(C) T gF (C) Robert Hooke
(D) Sugad FI (D) All of the above

AG-2002 (16) Set-D



52. fA=faIRad § dI9-91 €. T, T &7 91T

T 82

(A) T

(B) TaMIM

(C) eI
(D) e

53. fy=folRed & & oF-w1 td @@ H

gerfe ferfim 72 8 °

(A) faerf®T A
(B) fdarfd= C
(C) fderff= D

(D) fdeI™+ K

54, fyfoiRed § & SIF-91 W gHlera T8l

g ?
ECIEE]
(A) 91
(B) d-2
(C) d-5
(D) 912

AG-2002

deTe
AT
REEIRTIER]
BIDKSIENKE]
RIATPIATATH

52.

53.

54,

(17)

Which of the following is not a part of

DNA?

(A) Adenine

(B) Guanine

(C) Cytocine

(D) Uracil

Which of the following is not a fat soluble

Vitamin ?

(A) Vitamin A

(B) Vitamin C

(C) Vitamin D

(D) Vitamin K

Which of the following is not a correctly

matched ?
Vitamin Scientific Name
(A) B: Thiamine
(B) B, Riboflavin
(© Bs Pyridoxine
(D) By Cyanocobalamin

Set-D



55. Racd I f&dd T H BT & 7 55. Rickets disease is caused due to deficiency

of :
(A) fder @ A (A) Vitamin A
(B) fderi#™¥ B (B) Vitamin B
(C) faerf= ¢ (C) Vitamin C
(D) fder™™ D (D) Vitamin D

56. ffoiRgd § ¥ ®-@1 §E Qg 56. Which of the following is correctly

37 matched ?
e CILINPASLIC] Vitamin Disease/Deficiency
po— symptoms
(A) e A TRIB (A) Vitamin A Nightblindness
(B) fderfid E CIELG] (B) Vitamin E Sterility
(C) faeri¥ ¢ Thdl (C) VitaminC Scurvy
(D) gquaqquﬂ (D) All of the above
57. fyfaRed # & oH-w wgfae gWE 57. Which of the following is not a natural
T2 hormone ?
(A) i (A) Auxins
(B) UieiH (B) Ethylene
(C) ufaRi® ard (C) Abscisic acid
(D) 2, 4D (D) 2,4-D

AG-2002 (18) Set-D



58. el Bl UM dTel B © 58.  Fruit ripening hormone is :

(A) 6. T T (F<Id thifed o) (A) IAA (Indole acetic acid)
(B) U 9L U (vfsaRied 1) (B) ABA (Abscisic acid)
(C) forasfer (C) Gibberellins

(D) TRl (D) Ethylene

59. frefeed # ¥ @-@ glg Iwe 59 Which of the following is not a growth

inhibitor hormone ?

g TE 8 ?

(A) S (A) Dormin
(B) TRl (B) Ethylene
(C) TfsaRi® o (C) Abscisic acid
(D) &€ T T (D) 1AA

60. S H ERRIDR H YU 89 drel 8™ 60. A widely used rooting hormone s :

g

(A) 2,4D (A) 2,4-D
(B) NAA (B) NAA
(C) TSI (C) Cytokinin
(D) 2,4,5T (D) 2,4,5T

AG-2002 (19) Set-D



10.

11.

12.

Impt. :

Four alternative answers are mentioned for
each question as—A, B, C & D in the booklet.
The candidate has to choose the most
correct/appropriate answer and mark the
same in the OMR Answer-Sheet as per the
direction :

Example :

Question :

Q1T ® @ © ®
2 ® ® @ ©
W3 @ @ © ®

[llegible with  cutting
over-writing or half filled circle will be
cancelled.

answers and

Each question carries equal marks. Marks
will be awarded according to the number of
correct answers you have.

All answers are to be given on OMR Answer
sheet only. Answers given anywhere other
than the place specified in the answer sheet
will not be considered valid.

Before writing anything on the OMR Answer
Sheet, all the instructions given in it should
be read carefully.

After the completion of the examination
candidates should leave the examination hall
only after providing their OMR Answer
Sheet to the invigilator. Candidate can carry
their Question BookKlet.

There will be no negative marking.

Rough work, if any, should be done on the
blank pages provided for the purpose in the
booklet.

To bring and use of log-book, calculator,
pager and cellular phone in examination hall
is prohibited.

In case of any difference found in English
and Hindi version of the question, the
English version of the question will be held
authentic.

On opening the question booklet, first
check that all the pages of the question
booklet are printed properly. If there is ny
discrepancy in the question Booklet, then
after showing it to the invigilator, get
another question Booklet of the same series.

10.

11.

12.

Te-gRA®T H UA® U & IR GRITad StR—
A,B,CTd D | Wiemdi & 89 9 fawedl § &
U6 [ el Yal Ha¥ UG SR Blel 2|
IR BT OMR J=R-3e § Jufd u97 o §
o TPR MR R

SHEYUE

'EL

w1 @ © O™

2 (A ® ©

wm: D @ © ©
TSI TR AT U SR =8 BleT AT el T
&, TT Tl H 3T MRaR fodm T, I FAvved
fear S |

TG T B 3F FHE 2| AP R SR
e B, I B AR 3P YIM b SR |

T ST $ad 3N TH. IR, ST-T98 (OMR
Answer Sheet) WX 2 fo o 8| Sw-uAe A
uiRa WM & araTmar o=d d8l W fear M
STR A T8l 81 |

3. TH. R, STR-U36 (OMR Answer Sheet) W
o N fore 9 7@ I A T W0 argeul
AaIgdd U foram S |

e T & SW Wendf w7 Red Bl
3T OMR Answer Sheet SUTE XM & I
B T P F WRAH By | qRemeff o W
TE-QRAHT o S A ¢ |

ferife mifd T8 2 |
5 W X6 PR, TH-YRADET T 3 H, H-BR
& foru oy w@relt U1 W & fdan S ARy |

URIET-heT ¥ ANT-gab, Defdeicy, UoR a2l Hegerk

B o ST AT SHBT SYINT AT Ifoid 2 |

7 & Rl U9 Ul wUrRer § f=Tar 89 @l
T H U BT S HUFROT & q= BT |

HEAYU

—

| EAYRADT Fiel W YA G 9% o o

2y
i3
E
oy,
a,
j
8
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